Threes Cixes
Ox3=20 Ox6= 0
1x3= 3 1x6= 6
2x3=6 2x6= 12
3x3=09 3x6= 18
4 x3 =12 4 x 6 = 24
5x3 =15 bx6 = 30
6 x3 =18 6 x6 = 36
7 x 3 =21 7 x6= 42
8 x3 =24 8 x6 = 48
9x3 =27 9x6 = 54
10 x 3 = 30 10 x6 = 60
11 x 3 = 33 11x 6 = 66

Bronze Silver Gold Bronze Silver Gold




Orleans Primary School

Stage 2

Multiplication Tables
Record of Achievement

Name

Class

Bronze
TFor being able to recCite @ complete multipliCation table without error Or [0hg pauses (pupil may self-Correct)

Silver
TFor being able to ahswer random order multipliCation sums without error Or [0hg pauses (pupil may self-Correct).

E8.2X 42 2x8?

Gold
TFor being able to give the multipliCation £aCt fOr ahy givenh ahswer/product e.g. 36 — 6X6



